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Toxicology Quiz
Write accurate, relevant information next to questions for extra credit. Follow directions – choose only one answer per question unless otherwise instructed.
1. Pierre, Marla, and Cleozubia buy property in Podunk, MA in order to set up an organic farm. However, when they test the soil they find the pesticides Aldrin and DDT. Why?

a. These chemicals are persistent – they remain on the property from previous owners, some of whom sprayed them to keep mosquitoes away from their dinner parties in the 1950s
b. A paint factory once stood on the property and would dump toxins in the backyard

c. The last owners ran a daycare and they would spray the kids with these to kill lice
d. These same owners also ran a meth lab on the property, polluting the soil

2. The pesticide Aldrin can bioaccumulate. What does this mean?
a. The friends will die from being exposed to it once
b. Small doses of the chemical can build up in the friends’ bodies

c. Organisms accumulate in an ecosystem
d. All of the above
3. Further analysis finds the pesticide chlorpyrifos in the soil. This is a neurotoxin – how do these work?

a. By disrupting chemical signals sent between nerves

b. By killing or damaging nerve cells

c. By disrupting or destroying nerve cell membranes

d. All of the above

4. What is a/are possible outcomes to the friends’ exposure to the neurotoxin chlorpyrifos?

a. Marla starts to grow thick hair over her body over the next few months
b. Cleozubia develops migraine headaches and essential tremors

c. Pierre has a miscarriage

d. All of the above

5. Put a C (chronic) or A (acute) next to their symptoms:

a. _______
Marla’s excess hair (hirsutism)

b. _______
Cleozubia’s headaches and tremors

c. _______
Pierre’s miscarriage

6. The friends are also exposed to atrazine, an endocrine disruptor. What is an endocrine disruptor?

a. A chemical that interrupts transmission between nerve cells

b. A chemical that must be present in USDA-certified organic foods

c. A chemical that disrupts hormones in the body

d. All of the above

7. More testing finds more chemicals on the farm. Which is most likely to be the most carcinogenic?

a. Glucose, an organic compound

b. Benzene, a volatile organic compound (VOC)

c. Benzopyrene, a synthetic organic compound (SOC)

d. Anthropozygene, a dangerous organic compound (DOC)

8. They find trace amounts of styrene, a fat-soluble chemical that is a possible carcinogen and trace amounts of 3:4-benzpyrene, a known carcinogen and a water-soluble chemical. Why are they more concerned about the styrene?
a. They’ve developed brain damage from all the chemicals and can’t think straight
b. A water-soluble chemical can pass out of the body while fat-soluble can accumulate in tissues
c. Fat-soluble chemicals travel easier through the environment

d. All of the above

9. How could styrene biomagnify?

a. The animals that consume it would get bigger over time

b. The styrene increases its amount in the farm

c. The styrene in the soil gets into the grass, and more styrene gets into the sheep that eat the grass
d. All of the above

10. The friends have been exposed to many dangerous chemicals. How will their bodies work to get rid of these?
a. Breathing

b. Kidneys will eliminate some through urination

c. Sweating

d. All of the above

